Q 1.6 LEAST COMMON MULTIPLE

Essential Question: \‘\od Can Now 'Q\f\A 3V\(\C \Q@g
CO ™ oy w\\x\‘\\P\e of l“\kf‘\\QQ“\g>

What are the first 6 multiples of the following numbers?
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Least Common Multiple (LCM)->The S real\ &8 \multlple that is shared by _ 4. 1 or
were numbers.

One way you can find the LCM of two or more numbers is by A 5‘\' Qfxg ™ Uf : p lQJ

EXAMPLE 1
Find the least common multiple.
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Another way you can find the LCM of two or more numbers is byQS:]MQ ?0 &\'Wl '10\"‘,“\
EXAMPLE 2
Find the LCM by using prime factorization. W \%
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HOW TO FIND THE LEAST COMMON MULTIPLE USING PRIME FACTORIZATION.
1) Find the prime factorization of each number.

2) Circle each different factor where it appears the most.

3)Multiply all the factors that you circled to find the Least Common Multiple

EXAMPLE 3

A traffic light changes every 30 seconds. Another traffic light changes every
40 seconds. Both lights just changed. After how many minutes will both
lights change at the same time again?
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